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QUESTION 1

Which four are valid for integration using Service Oriented Architecture Cloud Service (SOACS)?

A. Retrieve/Update supported data elements on the SaaS applications using REST Services in real time.
B. SOACS has read access to HCM and ERP Cloud (SaaS) Applications data.

C. Create Files in the required format and Orchestrate PBL data loads into the HCM/ERP Cloud.

D. Create Files in the required format and Orchestrate FBDL data loads into the HCM/ERP Cloud.

E. Create Files in the required format and Orchestrate ADFDi data loads into the HCM/ERP Cloud.

F. Create Files in the required format and Orchestrate HDL data loads into the HCM/ERP Cloud.

Correct Answer: ABEF

QUESTION 2

Which three statements are true about SOAP and advantages it provides? (Choose three.)

A. RPC (Remote procedure calls) are sometimes blocked by firewalls and proxy servers - SOAP overcomes that.
B. It is able to act like a cleaning agent to remove excess data from the transmission protocol.

C. Since its XML based, it is platform and programming language independent.

D. It stands for Simple Object Application Protocol.

E. It uses XML based content communicate between two client machines across any modern network.

Correct Answer: ACD

QUESTION 3

Which two are types of style patterns available while creating integration with Oracle Integration Cloud (OIC)?
A. Notification

B. Metadata

C. Orchestration

D. Map Data

Correct Answer: CD

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creatingintegrations.htmi#GUID-
FC613C76-F566-4673-BC10-CC893958C8D6
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QUESTION 4

Which two are device activities that can be monitored from Oracle Internet of Things (IoT) Cloud Service?
A. Device Login Activities

B. Alert Messages

C. Application Data

D. Warning Messages

E. Device Data Messages

Correct Answer: BD

QUESTION 5

What policy is required to be in an API if that API is to be used under a Plan?
A. Application Rate Limiting

B. Basic Auth

C. Key Validation

D. Interface Filtering

Correct Answer: C
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